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CLIL

Content and language integrated learning is an approach for learning content through an
additional language (foreign or second), thus teaching both the subject and the language.

CONTENT LANGUAGE INTEGRATED LEARNING
AND



THE CARTHQUARES:

What is an earthquake?
Volcanic earthquakes and
tectnoic earthquakes
hypocenter and epicenter
Primary waves and secondary
waves

Magnitude and Mercally scale,
Richer scale

~

effects and distribution of the

earthquakes
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P wave

SCISMIC WAVES:

S Wave

e The primary, or P waves, also called
compressional or longitudinal waves.

e The secondary, or S, waves, also called

shear or transverse waves.

o Surface waves

Love Wave

W adlence Learning AUD = Fokapu Akoranda Fulalao, University or walkalo, Www. sclencelearn.org.ni


https://www.britannica.com/science/longitudinal-wave
https://www.britannica.com/science/longitudinal-wave
https://www.britannica.com/science/secondary-wave
https://www.britannica.com/dictionary/shear
https://www.britannica.com/science/transverse-wave

WHAT IS A SCISNMOGRANTAND A SEISVIONIC TCER?

AMFICLLA |
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o A seismogram is the recording of
the ground shaking at the specitic

location of the instrument.

e Seismometer are instruments
used to record the motion of the
oround during an earthquake.
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THE SEISVIONIE TER OF LICCO
ARTURO LABRIOLA



DIFFCRENT SCEISNVIOGRAPHS CONPARED

A.LABRIOLA
D: 3,36km
1:2,46s
Time: 10,36,23,461
V: 1,36 km/s

SAN SEBASTIANO D: 7km
D: 19,3 km T:3,006s
1:7,5s Time: 10,36,24
Time: 10,36,28,597 V: 2,42 km/s
V: 2.7 km/s



LOORKING AT AN €CARTHQUARKE FRON
GOOGLE EARTH




EPICENTER SEISMOGRAPH

d= V4 + 7,29= 3,36
1=10,36,21 s

v=d/t= 3,36/ 2,461= 1,36 km/s

FOCUS



THANK YOU FOR PAYING ATTENTION



